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1. Solve the inequality and write the answer in interval notation.
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2. Find the domain of the following functions.
a. y=Z% = ' . c. y=log(x—10)
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3. Simplify each of the following:
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7. Graph the following piecewise function
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8. Sketch the following rational function. Identify point(s) of discontinuity, hole(s),

vertical asymptote(s), and horizontal asymptote(s).

S et N
f (X) x2-x-6 QQ‘ 33()( +z)

Point(s) of Discontinuity: _ X = =2 5

Hole(s): _NONE

Vertical Asymptote(s): _X = — 2__..

3
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Horizontal Asymptote(s):

9. Find the exact value of the following:
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10. Find the exact value of the following:
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